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Counse Code: SSEI 153 Stat:stlcal Methods II

Time Allowed ZHaurs ' Mt.-.\"immh Muarks: 30

Note Aﬂempt as per mstmctwns

Al the best@

Secuon A (Attempt all quest:ons) (1 “6“ 6marks)

R N 'Whlle obtammg the coeff' ments ofzb .' ol ual dlStllbutl. i, i each succeedl" 'term the power of q o .' ._
I and powei ofpis : _ -

Ify2i IS negatlve It 111d1cates_

R

Sectlon B Attemnt anv three questlon L % (3%3=9 marks)

] From the cham base mdex numbe;s plepale f ‘{ed base mdex
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' 2 ]f1t 1ams a dealer in umbrella : ea1 n Rs 300 per day, 1f1t does not lall’l he can ]ose RS 80 pe;
day What IS ]ns expectatlon |fthe ptobab:hty ofa :amy day is:0. 57'7 ; :
3 ]5 thene any fal[acy in the glve ”tement'? If S0 why do you thmk so’? If not justlfy
“The niean and standard devnatlon is 20 and 7 respectlvely for a bmomml dlstnbutmn”

4uw~T he mo; tality- 1ate_-f01 a cenam drsease lS 7111—] 000~What 15 the probabthty-forjust—z deaths on




. The screws produced by a certain machine were checked by examining samples of 128. The

followmg table shows the distribution.of-128 samples-according-to the-number-of-defective items -
they contamed :
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. Fit a binomial distribution and find the expected ﬁequencnes if the chance of screw being

defectlve is V4. Fmd the mean and variance of the f' tted dlStl]bllthll

3. The followmg table gives. frequenmes ‘of occurrence’ ofa varxate between AT lumts

- ~Variate (X) F1 equency(i)
Less than 40 30
40 or more buit less than 50 33
50 and more 37

If the dlStHbutIO]] is e\{actly 1'101]]’]&l f‘ nd the mean and standald dewatlon :




